Subject: Re: cgwindow and cgplot, bug?
Posted by David Fanning on Fri, 27 Jul 2012 12:17:29 GMT

View Forum Message <> Reply to Message

David Fanning writes:

But, the solution is simple. Don't use SYMCAT here!!!
If you don't use it, then the symbol value is NOT
hard-coded, but is evaluated at the time the

cgPlot command is executed.

V V V V

Well, the symbol value IS hard-coded, but the values
are hard-coded as 6 and 9, not as 8, as they were
in the original example.

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.idlcoyote.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")
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